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GCSE Exam Questions: Rearranging Equations

1) Make x the subject of the formula:

y=2x+4

(2 marks)
2) Make s the subject of the formula:
Vv:=u?+2as
(2 marks)
3) Make g the subject of the formula:
AT
(3 marks)
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GCSE Exam Questions: Rearranging Fractions

4) Make v the subject of the formula:

20(t — 3v)
W=
v
(5 marks)
5) Make ¢ the subject of the formula:
2(t + 3)
t—3
(5 marks)
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GCSE Exam Questions: Rearranging Equations

6) Make x the subject of the formula:

(5 marks)
7) Make m the subject of the formula:
m t m—t
v b r
(6 marks)
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GCSE Exam Questions: Rearranging Equations Answers

Question Answer Marks
1) Make x the subject of the formula: y-4=2% 1)
x=y—4 @
y=2x+4 2
2) Make s the subject of the formula: Vi -u?=2as 1)
s=v-u 1)
Vv =u?+2as 2a
3) Make g the subject of the formula: Y2 = &56 6}
Y= [g9+6 5Y2=g+6 1)
5
g=5Y?-6 1)
4) Make v the subject of the formula: vw =20(t - 3v) 1)
20(¢ — 3v) vw = 20¢ - 60v 1)
W=——= vw + 60v = 20t 1)
v v(w + 60) = 20¢ (1)
201
VT w160 M
5) Make ¢ the subject of the formula: k(t-3)=2(t+3) 6}
kt-3k=2t+6 1)
K = 2 +33) ki-2t=3k+6 )
t= (k- 2) = 3(k +2) 1)
_3(k+2)
t= 1
- @
6) Make x the subject of the formula: cx=a(x + b) )
€T a cx=ax+ab 1)
- cx -ax=ab 1)
z+b ¢ x(c-a)=ab (€))
_ab 1
X= 1)
7) Make m the subject of the formula: bm—tv m—t
= oe €))
m t  m-—t b r
v b 7
r(bm - tv) = bv(m - t) (1
bmr - rtv = bmv - btv (1)
bmr - bmv = rtv - btv (1)
m(br - bv) = tv(r - b) (1
_ tu(r—b) 1
"= b(r —v) oe )
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning |GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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